
',,':,..i,. 
ti,:ri.

i. :-rl i ;t:J A Iir, ilt, tp;,tti1i; ,*i9'1;t
,: :,,;i, :.:rji.;rii;l .1,,.,.i4: r., ,,

$q"c!\lt-tli'tt-A{.r'}$}&-$\k}ruffiSi VNtrtTA|i}Hilk n$*Wff.ffff3}s, 
i'lff] $.Vl ffi [,4 . T il*-il H*X#\H t,r| trl

S-' (l S* (*t.l\" s5. J\ $: $:1 )"${ tt }.-{ {* ${ i.s,

"i'

COfJTACOBAHO HPNI{T$F IIIKOJI hI .1'fu

n pilc,\r

It tt lllt.l
palac"q

a ECnJTATFI brtl ln erra x

I-4 KJI

ETOPHHI{ l0 ABKAEP}I3$?4 r.

Konltrrlepcxotl r{34$JIIte

npO[tbl[IJieiiHorr] np0]ll EOiICi'B&

Cott tlircouauur,rfi

C'r,rp raepnrrii
Ko'r':te'rr,r J.ouarur rlls c co,vcoM

Karua rpertneBiit,ri paccbt it qrirar

l{ar}eii.Hr,rii }ranulofr Ha $ioir$Ke

iiarorl srt*auurrHr*tfi c

r\,1 H lQOHy'rpuel{Tarr{ 14

Xn*S pxaHoi^r

Cor tpaconartttt til
Kor,retul Aor{auu}re c coyuorl
I(ama rpe.rueB{irI paccbrniiill'&x

liorlrdifnr'rit Hannlor lrer Nro;t$Ks

Faroir sxraulrunurfi c
MHKpoHyrpfiei,{t{MR

Xnr6 pxauoFt

Cyn rtap"ror!eLrr'nurii i: prrCOr\,1, u

A.IffCOT'

Mtco, ryurrtttnoe e xtrriycrcrt

Orypeu $slrcepii,rponauuuii 
"ldr

Kounor H: c1+;o$pyxtoir

Ilii:rou ni.t'rfiullsHr.rii c

11 lr tillotJ\'Tl) ileHI il \l I I

Xle6 prrauoii

P$ra.fi lrli c Bapenbtr{ cryrte}I}ilu
M0Jr0K(}r!t

Hfl rrr*rtlI ltu't'pYconut it

l,0l ,1,51 I q.ffs

l.ri0 {1.00 :0.t0
6,?5 7,4? 0,00

I 5,00 19,80 I t,80
10,20 ?,60 46,40

3.16 2,67 15,95

2.48 0,6? t7 "67

1,40 0,?0 s.{i0

rop.6alogu

I-apHI'{p

r()p.uanHToK

xle6 6e;r

x;rc6 ,repu

3AI}1'PAK

rop.6rnAo
rapx!tp

r(}p.HarrH'roE

"r.ils6 6e;r

xne6 ,iepH

06n/t

I ijrN:no

? S;*,olo

.s.sn.rapHup

HAI'I}iTOK

r:re6 6er

x;re6 uepu.

nor'ult-tHK

Mytl.l|3aenfie

HAnI.{1'()K

Ili8Si I 7

j.{sZr'l 3

Ng27 lr'17

Ns457i 1"1

Ng762,'97

TTK

1'].K

Nr3ll9i l7
Xr27li I 7

Jr(s457i l3
Nu762197

TTK

TTK

28

?00

25

75n5
180

?00

?s

ln

200

75/:5
180

:.00

120,40

l{5.0{)

90,&3

?86,00
294,0t1

101,00

I I,2t)

42.00

)) ")0

3 8,66

8_58

9,0?

*1,79

11s0,43

85,0t)

386,0i)

f 94,00

l0l,00

s6.80

43.00

2,48

I,rl0

17,(j7

8,S0

d{},s0 42,{t? 140,,1?

1,00 0.00 20,30

15,00 1s,80 t t,80
10.10 7.60 -16.-10

.i,16 3,67 15,,ri

s5,00

12.51?50 26. l9

?t)0 sl"p$
50 9,S3

?00 6,0$

3 6 5.51

100 r e.00

300 6.00

9,40 10,70 l9,irti

lp,{tO 7,6$ i6":J{l

0,s4 0-t}tt {,.i{;

0,70 0,09 :j:.00

0,6?

0"30

JI

?n

.46r{10

$t

8S4,80 3J,24 30,ti9 I2CI-6:

ist64/1 3

)tu381il3
Ns?Oll 7

l{}349r I 7

]"T'K

ITK

"f1-K

N!58Sll 3

30

q8.00 2.80 0,7fi l:9,( -5

_ -1,64 63,ilt1 r, r0 01i[] ll'?!;)

I02,0t| 68?'3t1 35,44 19047 | i)? jql

r ii,, i i',

6,60 11,,30 41, t0

l9l,ii0

? 12..10

q,00
I li {)f)

? 12,00

104.00 0,r0 0,c10 35.?0

!
AI{PEI(TOP Mvn Hn

TEXtf O-rlol .,f/,
:'///t'1"

{

,.. 
... 

l
.r'/, -i-u I\=".;4\'/ !

it 'l

?5,,t10 316n00

HAJIbKYJI'ITOP

3AB. trp-oM

66,$10I I o2tl


